50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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1 a
b.
2 a.
b.
3 a
b.
4 a.
b.
5 a.
b.
6 a.
b.
7 a
b.
8 a.
b.

b/ %M
Moﬂule 1
With a neat sketch of permanent way, explaln the functions of its g:omponents (10 Marks)
With a neat sketch, explain conmgvaé)f wheels with its advant%ges (10 Marks)
OR

Draw a neat sketch of snnple Ieﬁ hand turnout and show.its various components. (10 Marks)

If a 8° curve track diverge ,from a maln curve of 5° m an opposite dlrectlon in the layout of
B.G yard. Calculate the;

speed permitted on thé*main line is 45 kmph [Assume cant deﬁ01ency for B.G track as

7.6cm] (10 Marks)
Modiile-2
Enumerate and explain methods of stabilization of track on poor soil. (10 Marks)

Calculate the quantity of materlals required for the construction of B.G track of length

19.5km. for the following data,. ”ﬁght of Rail section'="52Kg per unit length, standard

length of Rail = 13m, Sleeper densffy M +4). (10 Marks)
(10 Marks)
(10 Marks)
Explain with a ne*a“twsketch the layoutw ind components of an art1ﬁ01a1 Harbour. (10 Marks)

With a neat sketch clearly explaln needle beam method of tunneling in soft soils. (10 Marks)

(10 Marks)
Dlscuss br1eﬂy on:
%, i) Tunnel meg
‘ 11) Ventllatlon (10 Marks)

e
i

(10 Marks)

(10 Marks)
\ OR
Discuss on classification of Airport. (10 Marks)
Write a short note on : ’
1)  Air transport characteristics
11) Parkmg and circulation area (10 Marks)
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Explain the procedure for oriented runway using wind "e diagram of type : 1. (10 Marks)
The length of runway under standard condition is 620m The alrport site has an elevatlon of

effective gradient of 0.2% determines the co édted runway length. (10 Marks)

Write a short note on :
1) Airport Lighting
i) Airport Marking 3 (10 Marks)
Explain the passenger fa0111tles and services avallable at airport. (10 Marks)
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